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1.  Discount = $45; New Price = $255

2.  Discount = $9.60; New Price = $38.40

3.  Original price = $545

4.  $22.95

5.  Dealership A’s truck will cost $13,050.  
Dealership B’s truck will cost $13,760.  
Dealership A is the better deal.

6.  Markup = $4; New Price = $54

7.  Markup = $52.50; New Price = $402.50

8.  Original Price = $2.40

9.  Store #1 = $300; Store #2 = $312.50.  
Phoebe should buy the TV from Store #1.

10.  Original price = $200; Discount Amount = $60;  
New price after discount = $140. Markup Amount = $28; 
New price after the markup = $168


